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Instructions for the candidates :-

1.

Candidates are required to give their answer in their own words as

far as practicable.

wdemefl gurEYa U TRl H IR < |
[
Figures in the right hand margin indicate full marks.
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While answering the questions, candidate should adhere to the
word limit as far as practicable.
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15 Minutes of extra time has been allotted for the candidate to read

the question carefully.
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This question paper is divided into two sections. Section-A and
Section-B
I8 U3 UF < WSl H g, WUe—3 Ud Wue—4 |

In Section A, there are 50 objective type questions which are



compulsory, each carrying 1 mark. Darken the circle with blue/black
ball pen against the correct option on OMR Sheet provided to you.
Donot use Whitener/Liquid/Blade/Nail on OMR Sheet otherwise

result will be invalid.

Gue—3 # 1—50 dF RIS e &, 9t v arfrard € | 0% @ forg uw

@ FiRa 8), 37 I dumaﬂm@ﬁwﬁ—ﬁﬁ‘dﬁfﬁ@ﬁ
B Blcl /et dfct U9 1 WX | 5 N YR &1 @8R/ avd
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e Aoy g BT | ’
In section-B, there are 25 short answer type questions (each carrying
2 marks), out of which only 15 (fifteen) questions to be answered.
Apart from this there are 08 long answer type questions
(each carying 5 marks), out of which 4 questions are to be answered.
TUe—d H 25 oY I<NIG U & (Ud @ ford 31 3fe fuifRa ), o @
gl 15 weAl &1 IR <7 a2
S AR 39 WU H 08 <" U3 & (U @ ford 5 afd FuiRa
g), NTH 9 5l 4 oAl &7 SR <A1 B |

Use of any electronic device is prohibited.
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SECTION-A (Objective Type Questions)

U3 (RIS ge)
5+ 3V2 %
A. TRAT = B. srafag e
C. gurie D. 57 4 &g &
5+3V2is
A. a rational number B. an irrational number
C. an integer D. None of these
et & o s B 7 ,
A. 28 B.69 G. 71 D. 63

Which of the following is prime ?

A. 28 B.69 C. 71 D. 63
= 4 o ouffg =g 2 7

Which of the following is not an irrational ?

A N7 B. V13 C. V25 D. V31

fr=falaa § fea aRew S &1 g9r7ee voR 99 & ?

Which of the following rational number has terminating decimal expansion?
2 11 17 6

Tl VTR 99 G181 6T HedH GHIad® ey &

HCF of two consecutive even numbers is

A0 B. 1 C. 2 D. 4

AT o T B fFET qgUT x2+x-2 B TP & @, i+é— &1 A BT |

If o and B are the zeros of the quadratic polynomial x+x-2 then the



10.

1.

12.

value of i + JB- will be

(A) 3 (B)-}, (C)1 (D)2

af frdy TR 9o BT ndf g an + b 8 A1 $HT IR ©

If nth term of an AP is an + b then its common difference is

(A)b (B)a (C)n (D) -a

fa=g P(6, —5) @1 9 &

Abscissa of the point P(6, -5) is

(A) 6 (B) -5 (C)-6 (D) 5

fag (2, 3) Rerd €

(A)ver urg # (B) fadia ure A (C)gdm ure #§ (D) =gl ure #

The point (2, 3) lies in !

(A) I¢t quadrant (B) Il quadrant

(C) Il quadrant (D) IV*" quadrant

Afe x=a, y=b IR x-y=2 ol x+y=4 & &1 8 o @ ;R b & A FHAL: g
If x=a, y=b are solutions of the equations x+y=4 and x-y=2 then the

values of a and b are respectively

(A)3,5 (B) 3,6 (C)3, 1 (D) -1, -3
THEROT x2+2x+4=0 B @Al DI YBfA B

(A) arafad IR HAH (B) arefads iR A

(C) srrReifa® (D) 37 ¥ I T

Nature of the roots of the equation x?+2x+4=0 is

(A) Real and equal (B) Real and unequal

(C) Not real (D) None of these

Rregali @4, —1) R @ 3) A B g ©
(A)3v3 g1 (B) 5 3PS (C)3V5 31§ (D) 25 SIS
Distance between the points (4, -1) and (2, 3) is



13.

14.

18.

16.

17.

(A) 33 units (B) V5 units (C) 35 units (D) 25 units
famgatt (4, 10) 3R (2, 2)@%%@%@@%’2%%11%@@@7@(0, 2)
CORCA U]

(A) 6 THT (B) 4 ¥Tx (C)5 T% (D) 12- 39T
The distance of (0, 2) from the midpoint of the line segment joining
(4,10) and (2, 2) is

(A) 6 units (B) 4 units (C) 5 units | (D) 12 units
af AABC & ¥ist & fideri® A(2, 4), B(O, 6) T C(4,-1) & a1 B
& deed & Ae® 8

If A2, 4), B(0, 6) and C(4, -1) are the vertites of a AABC then the
co-ordinates of its centroid will be

(A) (3, 2) (B) (2, 3) (C) (3,5) (D)2 -3)

af feg (1, 2), (0, 0) 3% (a, b) Wee &

If the points (1, 2), (0, 0) and (a, b) are collinear then

(A)a=b (B)a=2b (C)2a=b (D)a +b =0
awﬁﬁmﬁwﬁﬁwﬁwﬁgﬁﬁﬁwﬂéﬁwmﬁ g
HoF fhddT & 7

(A) smEE (B) ZFeTrs

(C) orew (D) 371 & B1g TE

"Ratio of corresponding sides of two equiangular triangles is always
same, whose statement is this ?

(A) Aryabhatta (B) Euclid

(C) Thales (D) None of these

aﬁmﬁ%ﬁmﬁaﬁgﬁmﬁﬁaﬁwmﬁmﬁgﬁzﬁaﬁ%wﬁﬂ#



18.

19.

20.

21.

22.

AR ol & F9@ HIT ST A9 8l &

If the sum of squares of any two sides of a triangle is equal to the

square of its third side then the angle opposite to third side is

(A) 60° (B) 45° (C) 90° (D) 30°

AABC ~ ADEF 2 BC= 33#1, EF=4 ¥+, af< AABC &7 &5l 54 9
&l <l ADEF &7 &5 2|

AABC ~ ADEF and BC = 3cm, EF=4cm, if ar(AABC) = 54 cm? then
ar(ADEF) is

(A) 56 cm? (B) 96 cm? (C) 196 cm? (D) 49 cm?

9 B IR Ua Ry gY g & g W fraeh et Yard &= o weeh) 22
From an internal point of a circle how many tangents can be drawn
onit?

(A) 3 (B) 2 (C)1 (D)0

afy AABC @em ADEFH AB— Bk o <t finger wwew &1 o

If in AABC and ADEF, 4B = B then they will be similar when

(A) £A = £F (B) £A=«D

(C)«B=2«D (D) «B = ZE

Fafgarg FHHIOT 3/ ABC # o8 ZC 99ahI0T & a AB%=

In a right isosceles AABC with right angle at /C, AB? =

(A) 2AC? (B) AC?

(C) BC? (D) 4BC?

fo< a1 fag P9 1@ 9d Raar o< O € R & 78 < el Ymai

PA T PB & €1 &7 197 80° & aF LPOA &7 #1987



23.

24.

25.

26.

27.

28.

Two tangents PA and PB drawn from an external point P to a circle
with centre O are inclined to each other at an angle 80° then ZPOA
will be

(A) 50° (B) 60° (C) 70° (D) 80°
AABC &Y HaTrafi AB 3k AC W= 3 fawg D T E g9 yeKR g f& DEI1BC
HQJTAD:DB=3:1%‘lﬁﬁ:AE:aaﬁﬁ[ﬁa‘[ACWﬂW%

In AABC, D and E are points on sides AB and AC respectively such
that DE Il BC and AD : DB = 3 : 1.If AE = 6.6 cm then AC will be
(A) 8.8 cm (B) 8 cm (C)7.4 cm (D) 7.2 cm

(A) 24 (B) 26 (C) 28 (D) 30

A TR xe+2Kx+4=0 BT Th Adt 2 § T KT A 2.

If 2 is a root of the equation x2+2Kx+4=0 then the value of K is
(A) -1 (B) -2 (C)2 (D) -4
TR S 21, 18, 15 ... BT DI A UG LA B ?

(A)6 T (B) 7 df (C) s df (D)9 df
Which term of the AR 21, 18, 15 ..... is zero ?

(A)6 th (B) 7th (C)s th (D)9 th
TG ¢ + 5x - 12 = 0 B Th A 1 # DI B 7

Which of the following is a root of the equation 2x2 + 5x - 12 = 07
(A)O (B) 1 (C) -4 (D) -2

afe e 9gug p(x) = X2-2x+5 & LIF BEl o o+ P FE B



29.

30.

31.

32.

33.

34.

35.

If o, B are zeros of a polynomial p(x) = x2-2x+5 then the value of

a+p is

(A) -2 (B) 2 (C)5 (D) -5
Sin(90° - A) =

(A) CosA (B) tanA (C) SecA (D) CosecA

= § ¥ @19 SecA $ IR 8 ?

Which of the following is equal to SecA ?

1 ] 1 1
(A) TosA (B) Gosech (C) SwA (D) Coa
Cosec 44° ]
g TAME
Cosec 44°
Value of ecde 'S
(A) 2 (B) 1 (C)0 (D) -1

2C0s260° T # = # 319 & ?

Which of the following is the value of 2C0s?60°?

Ok B) (€)1 (D)
Sin220° + Sin?70° &7 A9 8

The value of Sin220° + Sin?70° is

(A) 2 (B)O (C) -1 (D) 1
tan6.Coto =
(A) 1 (B) -1 (C) é (D)0

WﬁﬁaﬁABCﬁmﬁaﬂwaﬁmé,aﬁAB=120mamBC=5cm3‘f

ar AC &1 74 8



36.

37,

38.

39.

40.

41.

In AABC right angled at B, if AB = 12 cm and BC = 5cm then the
value of AC is

(A) 13cm (B) 15 cm (C) 17 cm (D) 20 cm
IR 5SinA = 8CosA @1 CotA @1 A &

If 5SinA = 8CosA then the value of CotA is

(A) & B) % ©) 3 O3

Cot 60°&T HIM ® |

Value of Cot 60° is

(A) 1 B) J, (C) \3 (D)0
mqﬁwwﬁwm“ﬁaﬁwmﬂwmsﬁa%wﬁ
BT @ Frg gt (fieR )

When sun's elevation is 60°then a pole of height 6m will cast a
shadow of length (in m)

(A) 2V6 (B) 3v2 (C) 2v3 (D) 3v5
ﬁ@a@gﬁﬂ%ﬁsaﬁﬁﬁmm%

If perimeter of a semicircle is 36¢cm then its radius is

(A) 14 cm (B) 7 cm (C)21 cm (D) 42 cm
T I BT EEBE 154 WM T SR A ®

If area of a circle is 154 cm? then its diameter is

(A) 14 cm (B) 28 cm (C)7 cm (D) 21 cm
Wéﬂﬂwwzsﬁﬁr&ﬁ?“mﬁzoﬁﬁr%?ﬁémiﬁmwm%

Diameter of a cylinder is 28 cm and height is 20 cm then its curved

surface area is



42.

43.

44.

45.

46.

47.

(A) 1860 cm? (B) 1760 cm?

(C) 1460 cm? (D) 960 cm?
WWWWW?%%,W@qﬁmé

Total surface area of a solid hemisphere of radius 7 cm is

(A) 447 mcm? (B) 239 ncm?

(C) 147 ncm? (D) 174 necm?
aﬁqﬁaﬁ%@aﬁﬁwﬁzzaﬁﬂﬁwmﬁw%

Radii of two circles are in the ratio 2:3 then the ratio of their areas is
(A) 2:3 (B)4:9

(C) 3:2 (D) 29
aﬁmﬁﬁr@@ﬁzﬁﬁﬂfﬁmaﬁmeamﬁwr%ﬁmmﬁ
=S 8

If the central angle of a sector is 6 and radius is r then the length of

its arc is

™ o ® T

() =2 o) &

0 3, 4, 5, 6 @I AETHI B

Median of 2, 3, 4, 5, 6 will be

(A)3 (B) 4 (C)5 (D)2

Preg 3§ § B fHE TeAT B Wi T8 8 W © 7

Wheh of the following can not be the probability of an event ?
(A) 0.9 (B) 1.5 (C) 0.7 (D) 0.8
it areaRTet 10—20 &1 I U B



48.

49.

50.

Class mark of the class interval 10-20 is

(A) 5 (B) 20 (C) 10 (D) 15
forer amerdia formr & miftaT s fbar o w@ar 2 2

(A) s for (B) IRAAT qgY

(C) TRor (D) 37 & @IS 71

By which graph median can be determined?

(A) Histogram (B) Frequency Polygon
(C) Ogive (D) None of these

T UTT DI U IR BH TR 5 34 B IIiear &
|
In a single throw of a die the probability of getting 5 is

1 2 5
(A) % (B) ¢ ©) 3 )=

3T TE W B MY O S A F W T U1 Jgeo T e ofrar & a

SH® ol T P I B B yrimar @

One card is drawn at random from a well shuffled deck of 52 cards

then the probability of getting a queen of red colour is

3 1
A L (B) }3 ©) 5 D)7



SECTION-B (Non Objective Type Questions)
Qus—9 (IR TR T)
59 dife ¥ 15 oy ST (15x2=30 (%) TAT 4 HEECGRE RS

(4x5=20 3(F) BT IR AT AR 2| (IF T 1 9 25 TP Y I
g 2| 3o @ fHd) 15 U¥ &1 TR < 1)

In this Section you must answer 15 short answer type ques-

tions (15x2=30 marks) and 4 long answer type question (4x5=20
marks). (Q. No. 1 to 25 are Short Answer Type Questions. Answer

any 15 questions from these.)

1.

@a@ﬁwmwmaﬂmﬁwes?aﬂmmﬁmﬁl
Use Euclid's division algorithm to find the HCF of 306 and 657.
T FT 2x+3y = 1 AR 2x - dy = 24 B SRRETT R ¥ &
& |

Solve the system of equations 2x+3y = 11 and 2x - 4y = -24 by

substitution method.

3.

o 9gus X2 + 7x + 10 & RID] BT TG BN |

Find zeros of the quadratic polynomial x>+ 7x + 10.

AP siTd BT fdeT R ug 5 3R 7 df U< 9 B |

Find the AP whose 3rd term is 5 and 7th term is 9.
Kzﬁﬁmmﬂzﬁmmzx%m+3=ozﬁq§{w%‘?

For what value of K equation 2x? + Kx + 3 = 0 has equal roots ?
g X 5 V5 Ua uRva Her 2 |

Prove that V5 is an irrational number.

afz fAmg (x,y), Rvgalt (7, 1) R (3, 5) W WG & Al x TAT y H Hefer g1
B |



10.

1.

12

13.

14.

If the point (x, y) is equidistant from the points (7, 1) and (3, 5) then
find a relation between x and y.

few g el 18, 13, 17, 12, 16, 199! HIfeaHT FIT BN |

Find out the median of the given data 18, 13, 17, 12, 16, 19,

forely A B MR T @ 42 0 77 S 10 /N R O BT ST
I Y |

Diameter of the base of a cylinder is 42 cm and height is 10 cm.
Calculate its volume.

S 13T BT 7O HO 145 AT F0 W0 2175 ¥ | I $78H W U AT 725 &
o TN AT BT A T | /

The HCF of two numbers is 145 and their LCM is 2175. If one of
the numbers is 725, find the other nqmber.

=13 (1+Sin@) (1-SinB) o
s 9e0e 12 ar (1+CosB) (1-Cosh) PP I

13 (1+SinB) (1-Sind)

If Seco = = then find the value of (1+CosB) (1-Cos) *

UH g D s 3 20 A BT 58 W Ry Ua fag P A g9 W @i a7y e
NGl B RIS AT BN Al g9 B Brear 5 W 8

Find the length of a tangent drawn from a point P, 20cm away from

the centre of a circle if its radius is 5 cm.

Site BT & aam fefl waa s n & f3rg 6" &1 919 efe 0 W g
& Al & ?

Check whether 6" can end with the digit 0 for any natural number n?
fd+lr g5t ABC % ADLBC, @ fRrg &% f5 AB2+CD?2 = BD? + AC2.

In a triangle ABC, ADLBC, prove that AB2+CD? = BD? + AC2



15.

16.

17.

18.

19.

20.

21.

Rig s fs: 1+ —Co¥®  _ Coseco .
1 + CosecB

Prove that : 1 +—Cot?8 _ _ Cosech ,

1 + Cosec
fagait (—4, 7) gorr (3,Co)eagr fAeaTelt Yamave B y—arer g I guTa H
fufore owar @ ?
In what ratio does the y-axis divide the line segment joining the
points (-4, 7) and (3, 0) ?
%aﬁ%ﬁa%wgwwwwmﬁww%eﬁﬁ?ﬁ
fapol o 910 TU TwaTg Brpe @ dEma @ s B &
Prove that area of an equilateral triangl;;-:- described on one side of a

square is half the area of the equilateral triangle described on its

diagonal.
AABC & 3T BC R % fawg D 39 UsR & f5 ~ADC = /BAC ' Rig

iy CA_CB
s CD CA

D is a point on the side BC of a AABC such that ZADC = ZBAC,

CA_ CB
CD CA°

ﬁmﬁmmuﬁwmﬁmﬁmﬁwwmwaﬁl

Without using trigonometric table evaluate the following .-

prove that

Sin50° Cosec 40° 0 0
Cosao® T Se SO° 4Co0s50°Cosec40°. |

K® fe w1 & forg g 2 3), (4, K) 3R (6, —3) W &2

For what value of K the points (2, 3), (4, K) and (6, -3) are collinear ?
TS Ria® @1 1 9% IBTT Wi @ @ 9 @ BH U RId a1 9 gl
T E 7

A coin is tossed twice. What is the probability of getting at least one



22.

23.

24.

25.

head ?

%mgmmmmso%mwmfaﬂwﬁml

T7F areRTa| 0—20 | 20—40|40—60|60—80|80—100

CIECIEGI 17 f |32 24 19

Find the missing frequency f of the following given distribution whose

arithmetic mean is 50.

Class interval | 0-20|20-40 40-60 | 60-80 | 80-100

frequency 17 f a2 24 19

ﬂqﬁﬁ%mﬁ1gﬁaw9ﬁﬁ%|w®aﬁ%ﬁmwaﬁwmﬁ
gt gt @1 oRfrET @ A F AR F "
Radii of two circles are 19cm and 9cm. Find the radius of a circle
whose circumference is equal to the sum of circumferences of both
circles.
ﬁﬂﬂaﬁmwﬁﬁmg%@ﬁ%mﬂwaﬁq&imaﬁmﬁl
The diagonal of a cube is 9\f3 cm. Find the total surface area of the
cube.
wmﬁstﬁ?ﬁ,zﬂtﬁaaﬂ?4mﬁé%‘|aﬁsﬂﬁﬁwﬁfa@m
RreTe W 2 A 39 g @ A & B Tiisar a4 § ?

A box contains 3 blge, 2 white and 4 red balls. If a ball is drawn at

random then what is the probability that it will be a blue ball ?



uwﬂ'@nzsﬁ33aﬁsﬁﬁﬁﬂﬂlw€'lsﬂﬁﬁﬁreﬁ4$ﬁ?€

U<l vl £0 M 99 VR o  —————

Q. No. 26 to 33 are long answer_type guestions. Answer any four

26.

21.

28.

29.

questions out of these (5x4=20 marks)

T Ry @ i Y 5 e g x+3y=6 3R 2x -3y=12 |Td & |
Ffe Y & A1 S TH R §A Do |

Check graphically whether the pair of equations x+3y=6 and 2x-
3y=12 is consistent. If so, solve them grahically.

Rig ¢ fp el Byt &1 T 4oTl & FAIR =g 2 qorial B -
ﬁfg’aﬁwqﬁm@ﬁmﬁzﬁmwmﬁmﬁwmaﬁﬁmﬁﬁ
U B U # dfedh T | '

Prove that if a line is drawn parallel to one side of a triangle to intersect
the other two sides in distinct points, the other two sides are divided
in the same ratio.
ﬁézzoﬁﬁwwuﬁaﬁw%ﬁﬁwmsoﬁ
Wﬁwsﬁmwmwmﬂ%ﬂmwwﬁﬂwél
WWWWWWW1W3?%"WWWSW§I
(n=3.14 )

A solid iron pole consists of a cylinder of height 220 cm and base
diameter 24 cm, which is surmounted by another cylinder of height
60 cm and radius.8 cm. Find the mass of the pole, given that

1cm? of iron has approximately 8 gram mass (use m=3.14).

T ST W) T eIE A SR B, 100 Y B g W ¥ | TP IR AW A
WWBﬁw@WWWW%IﬁﬁﬁW—WW



30.

31.

32.

33.

A U B faen A o € o 9 5 e gvan e & | ey 99 faudia e
H godl & A1 9 U He 19 e ) QA SR @ e @ g ?
Places A and B are 100 Km apart on a highway. One car starts from
A and another from B at the same time. If the cars travel in the same
direction at different speeds, they meet in 5 hours. If they travel
towards each other, they meet in one hour. What are the speeds of
two cars ?

TS T 9 75 Hicx $A ASC TS & RRIR I @7 W I G @il
$WW30°W45°%[3%WW$W@WWWW
e ¥ i I8 B o < el @ 4 @ g = PR

As observed from the top of a 75m high light house from the sea
level the angles of depression of two ships are 30° and 45°. If one
ship is exactly behind the other on the same side of the light house,

find the distance between the two ships.

: CosA -SinA +1
. = +
Rrg =X & YT CosecA + Cot A..
Prove that : CosA-SinA+] = CosecA + Cot A .
CosA+SinA -1

4 1, 5 T IR 6 WAl YTl ATel T S B RE BT SR R g
ot By % T #
Construct a triangle of sides 4 cm, 5 cm and 6 cm, and then construct

another triangle similar to it whose sides are % of corresponding

sides of the first triangle.

T Raeier 3.5 9 B a1l U@ ¥ @ ATHR BT B, S S Bm are



el TR AR 2 | 5 Rachy & Wt Sard 155 9 2, < ol v
BT SAB AT DN |

A toy is in the form of a cone of radius 3.5 cm mounted on a hemi
sphere of the same radius. If the total height of the toy is 15.5 cm

then find out the total surface area of the toy.



